Corrections: Essentials of Robust Control

Errors listed here appeared in the first printing. Most of those errors have been
corrected in the recent printing except those with *x.

Convention: Page zx is denoted as Pxz. Line xxx from the top of the page is
denoted as Lzxzx while line zx from the bottom of the page is denoted as —Lzx.

1. Pviii, L5, ftp ee.lsu.edu should be ftp gate.ee.lsu.edu
2. P20, L1, B = Uf AU, should be B = U} AV;.
P38, -L9, at lease should be at least.

> W

P42, -L6, left-unit eigenvectors should be left-unit eigenvectors such that yz; = 1.
5. P43, problem 3.7, G3 should be G1, G should be G3.
6. *x P62, problem 4.3, w should be 7.

7. P77, L2 and L3, L = —lgr(A’,C" eye(n),eye(p)) and L = —place(A’,C’, Pl)
should be L = —lgr(A’,C’ eye(n),eye(p)) and L = —place(A’,C’, Pl)’ (i.e.,
transposed).

8. P101, L12,
1S()lloo = B, 1 ()S(5)| o, = 1B, (2)S(2)] = | B, ()]

should be
1S()lloe = [| By (5)S(5)| o, = 1B (2)S(2)]
(The last equality holds only when z is a right half plane zero of L.)
9. P102, Problem 6.4, Design a controller should be design a lead or lag controller.

10. P102, Problem 6.6 should be restated as: Let P = # Design a lead
(1—-38)(s+2)

or lag controller so that the system has at least 30° phase margin with loop gain
> 2 for any frequency w < 0.1 and the smallest possible bandwidth (or crossover
frequency).

11. %% P114, L13-15, £9][—00,0) should be L2(—00, 0].

12. %% P117, -L6, A;(A11) < 0 should be ReX;(A11) <0

13. %% P138,-L10, M (jwo) = U (jw)X(jwe)V* (jwp) should be M (jwg) = U (jwo) X (jwo)V* (jwp).
14. P155, -L3, y; should be ys.

15. P158, Figure 8.20 should be partially filled.
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Figure 0.1: Stability region for a =5

2(s+1 s
wx P161, L1, N = ﬁ should be N = ﬁ

P163,,Problem 8.17, smallest should be largest.
P180, -L4, starp(P, K, dimy, dimu) should be starp(P, K).

P199, -L6,

= saon ([ )=

Hence

g (5 (00,80) = {as ) (| M/ M ) <1}

A2EBA,
should be
= ([ )
Hence

amas i @01, 80) = fas pa (| Yl Mo ) 2.
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P200, L2
Omax = {a: Lia (M) ([ Aéo‘ Bléo‘ D - 1} —21.77.
should be )
a Bj/a
P238, L12, follows immediately form .. should be follows immediately from ...

xx P239, L4, The equivalence between (ii) and (iv) is obvious should be The
equivalence between (iii) and (iv) is obvious by noting the fact that A+ BR=1D*C
is stable if |G| <.

P239, L13, X BR~'D*C) should be X BR™D*C.
P254, L11, at t — oo should be as t — co.

P268, Problems 13.4 and 13.6, P = 10(s + 2)/s(s + 1)? should be P = 10(s +
2)/(s+1)3.

P301, Problem 14.7, P = 10(s + 2)/s(s + 1)? should be P = 10(s + 2)/(s + 1)3.

P377, -
12, [|A(z)]| should be [|A(2)|lco-

P377-L6, (uo,u1,...,u;—1) should be u = (ug, u1,...,u—1)
P382, L10, pr(MA) = oo should be pr(MA) = 0.

P383, L3, “Since D is nonsingular and D*D = D? € D” should be “Since D is
nonsingular and D*D € D”.

P383, L17, “note that @ = Q* and Q*G = QG = GQ” should be “note that
Q*G=QG =GQ".



